3.2 Equations of Lines November 18, 2014

3.2 Equations of lines

> The equation of a straight line can be written in the form
y = mx + ¢, where
® mis the gradient

® (is the y-intercept (y-coordinate of the point where the
line crosses the y-axis).

Values for variables
x and y are said to b/
satisfy an equation
if, when the variables
are replaced by the

y=mx+c
respective values, (09‘
the two sides of the intercept
equation are equal. 0 X
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£x. | <y
The line L passes through the point A(1,7) and has gradier@- m
Find the equation of L. e
Give your answer in the form y =mx +c.
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. : 1
The line L has gradient 3 and passes through A (2, -1).

a
b
c
d

Find the point of intersection of L with the x-axis.
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Find the equation of L. Give your answer in the form y =mx +c.
Write down the point of intersection of L with the y-axis.

Draw the line L showing clearly the information found in b and c.
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-» The equation of a straight line can be written in the form
ax+by+c=0

where g, band c € Z.
A £ C ave elemonts of +tha Tnteyes

g"’/ 3,-2 ,—‘lo' "‘2“3, 0.3
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B 1inc 7 ioins the points AR 5)andiBl o)
Find the equation of line L. 3
Give your ansyerin the form ax + by + ¢ =0 where g, b, c€ Z

b The point Q[ g, t] lies on L. Find the value of .
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Vertical and horizontal lines

Vertical lines are parallel to the y-axis.
Horizontal lines are parallel to the x-axis.

= o The equation of any vertical line is of the for@
where & is a constant.

e The equation of any horizontal line is of the forgd y = k&
where £ is a constant.
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Intersection of lines in two dimensions

=> If two lines are parallel then they have the same gradient and
do not intersect.

Parallel lines L , and L, can be:

® Coincident lines (the same line) ® Different lines




3.2 Equations of Lines November 18, 2014

> If two lines L, and L, are not parallel then they intersect at just one point.
¥\

point of intersection

i} 0 \:x
Preschool s Gool: Making Frientl
To find the point of intersection wrmm solve for x.

—

N\ S—
Find the point of intersection of the lines y=2x+land—=x-y+4=0.
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